Date: Name:

Multiplying Polynomials

2. Expand and simplify.
a) 2x+ 1)3x+7) b) (3x —4)(3x + 5)
¢) (5x+3)(x—2) d) 2x —3)(3x —2)

Oy By gt 134 - 20
O =Tk @ 13140

4. Expand and simplify.
a) (2x + 1)? b) (4x — 1)
o (3x +2)° d) (5x —2)*

@ Y2 4ty ) & o2 S+ |

) 4\ @) et — 3y

15. Expand and simplify the expression (x + 3)(x + 7) — (x + 5)%

= A0+ - (#—\\01435)
=~}

5. A two-lane bridge has width x + 3 and length 4x + 5.
a) Sketch a rectangle with these dimensions.

b) Find a quadratic expression that represents the area of
the bridge.

‘79 453 \D> A - L
\Q{g ~ (343 )

= Ue 4 \Fox 19
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SIMPLIFY EXRESSIONS Name:

In these problems you have to add and subtract polynomials. Change the signs on
iolynomiats you are subtracting, but not on ones you are adding.

(6x*=Hx +7) + (242 =3x-9 = ¥x* - ¥ — 2

(3x2+5%x - 1) = (Yt =2x+4) = =|x* x¥2 — 5

(3x+5) +(2x-3) + (4x-6) = Ao — Y
(@+b-c)*(a+b+2c)-(a+b+c) = q.\.\,i\pﬁ\

(2x*+%-3) +(x3-2x+3) (R +x+3) - (x2-3x-12) = X+ % +9
(x-y-z) *(x-y-z) - (x-y-2) +(x+y+z) = 22
(3a‘+2b+‘+)'(a‘+b-l)*‘(u‘+2b-|)*(a‘+b-2]=.‘-).\p 8

)Solve each equation.

8x-(5x-4) =25 ex~-(4x-5)=13 Ox -(3x+6)=8
Bx+(5x+t) =25 | PA-MATER |\ o o
Bxe % 257 2% 73 3.
3x =21 A= F.o=
A=2
®x=7
(ox+9)-(2x-5)=38 (9% +10) - (3% +2) = 744}
barq-22 4+ 5 =29 N 10 — 3 - 2 = Iy
<28
L{i"“"l 3_'" G‘I'f' %:-;}'1?
=2y Cx= Gb
X<
v A=
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SIMPLIFY EXRESSIONS

Name:
Write a polynomial for the perimeter of each figure.
3k + 4
3k + 4
= N 3k + 4
2k -1 2k -1 ok )
2k - |
3k + 4 Answer: P= IOk + b
L3 2w+ )
by Uwmid
r\§‘ 2m ?—W
Sw4¥
5m+7 v - Bh*\g
: A 43A42
x T L +8:, AT 4 B4 +lS
i 2 24+ 31 -3
2x%+x-3
R Yt + 22 +ly
4r -3 \{1-‘ 3
x-3
i 7 ux-3 OF Y ya-3)
(] « ‘b
e - \ot —\2
4x -3
2x +1

2x +1
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